F2-15#HK

RAlfZ R

REFMmENLSXICEET SRS

TNES THExER T % = I % @ ™ ) ALAE T = B =
DIP.GX ¢ 300 L=441.5m. DIP.GX ¢ 200 L=5.5m. DIP.GX ¢ 150 L=5.5m. HPPE ¢ 100 L=95.5m. HPPE ¢ 75 L=6.5m. HPPE ¢ 50
= s _ 5 BRFNET LRI R pnus L=7.0m
E£A1100045 KER (BRep-DEAEMEETE (BEEXFAHDE) ¥123,442,000H WEE SE13F OXGI00: 5%, (ISP 100:4%5, 01 PE75: 1. FEDS PEG 501155, HAIE 675:9% FRAMR
$150:2
RETTRMEDES TEOBIER Wt AR A Z0it
FHEIE R BiFED| BE | TEmRE e o | 2RBE] e .. |BERTE| SO ERTE | EBTE (K577 | FBT |rmpe smas | s o | EFEAED | BREIEN | EEEES Sl S A S M E DS fBE
Bis | THEM| ARz | PO |CPOME | BOME | ;g | TR gy | 0000 |FEHE | axmm mwmmmn| ww | mpmm |0 S BOEE T gy % 5 |BmARE
i1 1 2 1 2 1 2 2 4 4 1 — 1 1 2 1 2 2 2 (Rl A=) GRi ) 31 10.000
[ Lot D EEEfEE )
RETERMEDES TEOBIER 1o, AR A Zoit
AtLE BmEn| BE |TEmE e o | SEBE] o .| EETE| SO EBTE | EMTE |K5o717 | FET | ma | prcss s | EERAED | IHABILD | EEFEEA B A A& E M A f#%
i | THRe| AmE |00 | CPOBE | EORE | ;g | TR “xk | peoons | FERE | xme mnzn| mw | mpma R0 | POER T gy % 5  |HEEE
#HAst =88 1 2 0 2 0 2 0 1 — 1 1 1 0 0 0 19
BHBASHEAMALTK 1 2 0 2 0 2 0 1 — 1 1 2 0 0 0 20
| Sl S R D F 1 19500 |
(A5 R )
AFLAERE (BikE) FALERERE (RBEE) BfEEiS(C) =| HBAHHE = sna .
ARLE A EARL 5 > T 53 mEs (B iR )= JRammE EALE SHEREOER
E % E R £ B H
% £ A H
% £ B A
AFLE BT (B k) TS (BAESTl{E) X1:ME R, FHMEE /DM EMIEMEEALEIMMETERT
AT B 100.000 X2 ME A= (B A/ BEEA) x NEADHS




